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Committee Members:
 
As we promised last week, here are the copies of civil penalty exhibits that DEQ issued over the
past three months.  We also included a few exhibits of drycleaner cases  to give you a broad

mailto:/O=DEQ/OU=DEQHQ/CN=RECIPIENTS/CN=JROOT
mailto:dmisel@rejuvenation.com
mailto:mo42392@comcast.net
mailto:matthew.cribley@portlandoregon.gov
mailto:phouk@q.com
mailto:pwhouk@up.com
mailto:crich@perkinscoie.com
mailto:koprowski.paul@epa.gov
mailto:Courtney@crag.org
mailto:merlyn@lrapa.org
mailto:merlyn@lrapa.org
mailto:abaldwin@lclark.edu
mailto:dhaagens@cablehuston.com
mailto:linderg@cleanwaterservices.org
mailto:CARLOUGH.Les@deq.state.or.us



 
  


Case No. WQ/SW-ER-12-096  


Exhibit No. 1 - Page 1 - Valley Paving Exh.docx 


  


EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Failure to perform grab sampling and visual monitoring and submit 


the data to DEQ, in violation of Schedule B, Conditions 1and 5(a) 


of NPDES Permit No. 1200-A and ORS 468B.025(2).   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(o). 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(iii), because Respondent has coverage under a NPDES general permit.  


 


"P" is Respondent’s prior significant actions as defined in OAR 340-012-0030(17) and receives 


a value of 0 according to OAR 340-012-0145(2)(a)(A), because Respondent has no prior 


significant actions in the same media as the current violations. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C) because there is no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because there is insufficient information on which to base a 


finding under paragraphs (4)(a)(B) through (4)(a)(D). 


 


"M" is the mental state of the Respondent and receives a value of 6 pursuant to OAR 340-012-


0145(5)(a)(C) because Respondent’s conduct was reckless.  Respondent holds a 1200-A 


Permit, which specifically requires that Respondent conduct grab sampling and visual 


monitoring and report the data to DEQ.  Respondent previously received three Warning 


Letters for the same violation in 2009, 2010 and 2011.  By failing to perform the required 


monitoring and submit the data to DEQ, Respondent consciously disregarded a substantial 


and unjustifiable risk that it would violate its Permit, and this risk was a gross deviation 


from the standard of care a reasonable person would observe.  
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"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E), as Respondent did not address the violation as described in 


paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 


paragraph (6)(a)(D). 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 


because there is insufficient information reasonably available to the Department on which to 


base an estimate. 


 


PENALTY CALCULATION:  


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (0 + 0 + 0 + 6 + 2)] + $0 


 = $3,000 + ($300 x 8) + $0 


 = $3,000 + $2,400 + $0 


 = $5,400 
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EXHIBIT NO. 2 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 2:  Discharging wastes into waters of the state that reduced the quality of 


waters below the water quality standards established by OAR 340-


041-0007(12), in violation of ORS 468B.025(1)(b), on or about June 


14, 2012.   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(b).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $4,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(2)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(2)(a)(D). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 2 according to OAR 340-012-


0145(2)(a)(C), because Respondent was issued Case No. WQ/SW-WR-11-098 which 


includes one prior significant action. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is insufficient information on 


which to base a finding under paragraphs (3)(a)(A) or (B). 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation was observed June 14, 2012, and the 


Department has received no correspondence or other indication that it was corrected.  


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was reckless.  Respondent was issued Case 


No. WQ/SW-WR-11-098 for causing pollution to waters of the state at this Property for 


placing appreciable sediment deposits into the creek.  Respondent therefore knew that 


Oregon law prohibited sediment discharges.  By failing to prevent additional sediment 


discharges, Respondent consciously disregarded a substantial and unjustifiable risk that it 







 


  


Case No. WQ/SW-WR-12-073  


Exhibit No. 2 -Page 2 - Flowers II Ex II poll  
 


would violate water quality standards.  Respondent’s disregard of that risk constituted a 


gross deviation from the standard of care a reasonable person would observe in that 


situation.   


 


"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E), because Respondent did not address the violation as described in 


paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 


paragraph (6)(a)(D).     


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $1,235.  


This is the amount Respondent gained by avoiding spending $1,200 to remove soil 


deposited in the creek.  This “EB” was calculated pursuant to OAR 340-012-0150(1) using 


the U.S. Environmental Protection Agency’s BEN computer model.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $4,000 + [(0.1 x $4,000) x (2 + 0 + 4 + 6 + 2)] + $1,235 


 = $4,000 + [($400) x (14)] + $1,235 


 = $4,000 + $5,600 + $1,235 


 = $10,835 
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 EXHIBIT 1  
 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Failure to conduct visual monitoring in violation of Schedule B, Condition 2 


of NPDES Stormwater Discharge General Permit No. 1200-Z.  


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(o). 


 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-012-0130 


(1), as there is no selected magnitude specified in OAR 340-012-0135 for this 


violation, and the information reasonably available to the Department does 


not indicate a minor or major magnitude.     


     


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each violation 


is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the matrix listed in 


OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-0140(3)(a)(E)(iii).  


Respondent has been issued coverage under the NPDES Stormwater Discharge General Permit no. 


1200-COLS. 


 


"P" is Respondent’s prior significant actions as defined in OAR 340-012-0030(17) and receives an initial 


value of 2 according to OAR 340-012-0145(2)(a)(C) because Respondent has one Class I or 


equivalent prior significant actions in case no. WQ/SW-NWR-09-063.  This value is reduced to zero 


under OAR 340-012-0145(2)(d)(A)(i) because the prior significant action was issued more than three 


years ago.   


   


"H" is Respondent’s history of correcting prior significant actions and receives a value of 1 according to 


OAR 340-012-0145(3)(b) because the sum of P and H cannot be less than 1 unless Respondent took 


extraordinary measures to correct the prior significant actions.  The prior significant actions were 


uncorrectable.   


 


"O" is whether the violation was repeated or ongoing and receives a value of 3 according to OAR 340-


012-0145(4)(a)(C), because Respondent failed to conduct visual monitoring on 13 separate 


occasions.   


 


"M" is the mental state of the Respondent and receives a value of 2 pursuant to OAR 340-012-0145(5)(a) 


(B) because Respondent had constructive knowledge (reasonably should have known) that its failure 


to conduct required monitoring on days when discharging would be a violation.  Respondent applied 


for coverage under the Permit and has a copy of the Permit, which expressly requires Respondent to 


conduct visual monitoring while discharging.  Based on Respondent’s receipt of the Permit, 


Respondent reasonably should have known that failing to conduct visual monitoring of its 


stormwater discharge would be a violation.   


 


 


 


 







Exhibit 1 CASE NAME: RB Recycling, Inc. 
 -Page  2 - CASE NO. WQ/SW-NWR-12-116 


 


 


"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 340-012-


0145(6)(a)(D) because the violation or the effects of the violation cannot be corrected.  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It is 


designed to “level the playing field” by taking away any economic advantage the entity gained and to 


deter potential violators from deciding it is cheaper to violate and pay the penalty than to pay the 


costs of compliance.  In this case, “EB” receives a value of $375 as calculated using the BEN 


computer model, pursuant to OAR 340-012-0150.  This is the amount Respondent gained by 


avoiding the costs of conducting visual monitoring in the amount of $50 from one outfall in 12 


months. 


   


PENALTY CALCULATION:  


 Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (0 + 1 + 3 + 2 + 0)] + $375 


 = $3,000 + ($300 x 6) + $375 


 = $3,000 + $1,800 + $375 


 = $5,175 
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 EXHIBIT 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failure to collect monitoring data as required by NPDES Permit 


1200-Z, Schedule B, Condition 1, in violation of ORS 468B.025(2) 


and OAR 340-045-0015(5)(b). 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(o).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(iii). 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(f), because Respondent has no prior significant actions that occurred within the last 


10 years.   


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(b). 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(B), because there were four occurrences of the violation. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent.  The monitoring requirements 


are express in Respondent’s permit.  Respondent knew or should have known of the 


monitoring requirements. In failing to ensure that the monitoring requirements were met, 


Respondent failed to exercise reasonable care to avoid the foreseeable risk of committing 


the violation. 
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"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violation or the effects of the violation could not be 


corrected or minimized.  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $396.  


This is the amount Respondent gained by avoiding the $640 cost of conducting the required 


monitoring.  This “EB” was calculated pursuant to OAR 340-012-0150(1) using the U.S. 


Environmental Protection Agency’s BEN computer model.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (0 + 0 + 2 + 2 + 0)] + $396 


 = $3,000 + [($300 x 4)] + $396 


 = $3,000 + $1,200 + $396 


 = $4,596 
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 EXHIBIT 2 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 2:  Failure to timely submit an annual stormwater discharge monitoring 


report by NPDES Permit 1200-Z, Schedule B, Condition 4.a, in 


violation of ORS 468B.025(2) and OAR 340-045-0015(5)(b). 


 


CLASSIFICATION:  This is a Class II violation pursuant to OAR 340-012-0053(2)(a).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,500 for a Class II, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(iii). 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(f), because Respondent has no prior significant actions that occurred within the last 


10 years.   


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(b). 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation continued for more than 28 days. 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was reckless.  The reporting requirement is 


express in Respondent’s permit and Respondent had been previously issued a written 


warning letter for failing to submit its annual report on time.  Respondent’s repeated failure 


to timely submit its annual report demonstrated a conscious disregard for a substantial and 


unjustifiable risk that the violation would occur. 
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"C" is Respondent's efforts to correct the violation and receives a value of -1 according to OAR 


340-012-0145(6)(a)(C), as Respondent eventually corrected the violation.    


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as any 


economic benefit Respondent received was de minimis.     


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,500 + [(0.1 x $1,500) x (0 + 0 + 4 + 6 + (-)1)] + $0 


 = $1,500 + [($150 x 9)] + $0 


 = $1,500 + $1,350 + $0 


 = $2,850 
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EXHIBIT 1 


 


FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY 


PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Violating a condition of a wastewater discharge permit, in violation 


of ORS 468B.025(2) and OAR 340-045-0015(5)(b). 


 


CLASSIFICATION:  These are Class II violations pursuant to OAR 340-012-0055(2)(b).  


MAGNITUDE:  The magnitude of the violations is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,500 for a Class II, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(iii). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 3 according to OAR 340-012-


0145(2)(a)(D), because Respondent’s prior significant actions consist of two Class I 


equivalent violations, stemming from Case Nos. WQ/SW-NWR-10-006, WQ/SW-NWR-


09-053 and WQ/SW-NWR-11-088.   


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is insufficient information on 


which to base another finding.    


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation has been ongoing for more than 28 


days.   


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent or Respondent reasonably 


should have known that the conduct would be a violation.  The requirement to submit an 


action plan after exceeding a benchmark is express in Respondent’s permit.  Respondent 


knew or should have known of the requirement.  By failing to ensure that an action plan was 
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developed and submitted, Respondent failed to exercise reasonable care to avoid the 


foreseeable risk of committing the violation.   


 


"C" is Respondent's efforts to correct the violation and receives a value of -1 according to OAR 


340-012-0145(6)(a)(C), because Respondent eventually corrected the violation by 


submitting an action plan on October 22, 2012.   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as any 


economic benefit Respondent received was de minimis.  This is the amount Respondent 


gained by avoiding the $400 cost to prepare two action plans.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,500 + [(0.1 x $1,500) x (3 + 0 + 4 + 2 +( -)1)] + $0 


 = $1,500 + [($150 x 8)] + $0 


 = $1,500 + $1,200 + $0 


 = $2,700 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failing to conduct monthly visual monitoring, in violation of 


Schedule B, condition 1 of the Permit and ORS 468B.025(2). 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(o). 


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(iii), because Respondent has coverage under an NPDES 1200-COLS Permit. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 7 according to OAR 340-012-


0145(2)(a)(B) and -0145(2)(a)(D), because Respondent was cited for 6 Class I violations in 


Case No.: WQ/SW-NWR-11-215 which became final by payment of a civil penalty and 


Mutual Agreement and Order finalized on March 9, 2012.   


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of -1 


according to OAR 340-012-0145(3)(a)(B), because the prior significant actions cited in 


Case No.: WQ/SW-NWR-11-215 were uncorrectable. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because there was one occurrence of the violation, in April of 


2012.  


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent was reckless.  The Permit expressly requires monthly 


visual monitoring during discharges, and City of Portland staff conducts annual site visits, 


which include discussion of visual monitoring requirements with Respondent. Additionally, 


Respondent received a formal enforcement action for violating this same monitoring 


requirement in the previous monitoring year. By failing to perform visual monitoring in 


accordance with the permit requirements Respondent consciously disregarded a substantial 


and unjustifiable risk that it would violate the Permit.  
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"C" is Respondent's efforts to correct the violations and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violations or the effects of the violations could not be 


corrected or minimized.   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0.  


Respondent gained no economic benefit through this violation.  


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (7 + -1 + 0 + 6 + 0)] + $0 


 = $3,000 + [($300) x (12)] + $0 


 = $3,000 + $3,600 + $0 


 = $6,600 
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EXHIBIT NO. 2 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 2:  Failing to record and maintain on site preventative maintenance 


information in violation of Schedule A, condition 3(d) of NPDES 


Permit No. 1200-COLS and ORS 468B.025(2).   


 


CLASSIFICATION:  These are Class II violations pursuant to OAR 340-012-0053(2). 


MAGNITUDE:  The magnitude of the violations is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


 


"BP" is the base penalty, which is $1,500 for a Class II, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(iii).  


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 7 according to OAR 340-012-


0145(2)(a)(B) and -0145(2)(a)(D), because Respondent was cited for 6 Class I violations in 


Case No.: WQ/SW-NWR-11-215 which became final by payment of a civil penalty and 


Mutual Agreement and Order finalized on March 9, 2012.   


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of -1 


according to OAR 340-012-0145(3)(a)(B), because the prior significant actions cited in 


Case No.: WQ/SW-NWR-11-215 were uncorrectable. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(B), because the violation was observed on 3 inspections 


(December 8, 2009, November 18, 2010, and December 9, 2011).   


 


"M" is the mental state of the Respondent and receives a value of 6 pursuant to OAR 340-012-


0145(5)(a)(C) because Respondent’s conduct was reckless.  Respondent holds a NPDES 


No. 1200-COLS Permit, which specifically requires that Respondent perform monthly 


inspections and preventative maintenance and record and maintain records of those 







 
  


Case No. WQ/SW-NWR-12-122  


Exhibit No. 2 - Page 2 - Leatherman.Ex.2.Sch.A 


activities on site.  Respondent previously received Notices of Noncompliance from BES on 


December 18, 2009, and November 22, 2010, notifying it that it was in violation of 


Schedule A condition 3(c)(iii) of the Permit.  By repeatedly failing to maintain these 


records, Respondent consciously disregarded a substantial and unjustifiable risk that it 


would violate its Permit. The risk was of a nature and degree that disregarding the risk 


constituted a gross deviation from the standard of care a reasonable person would observe in 


that situation.  


  


"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), as the violation or the effects of the violation could not be corrected 


or minimized. 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0. 


Respondent gained no economic benefit through this violation.    


 


PENALTY CALCULATION:  


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,500 + [(0.1 x $1,500) x (7 + -1 + 2 + 6 + 0)] + $0 


 = $1,500 + ($150 x 14) + $0 


 = $1,500 + $2,100 + $0 


 = $3,600 
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Violating a condition of a wastewater discharge permit, in violation 


of ORS 468B.025(2) and OAR 340-045-0015(5)(b). 


 


CLASSIFICATION:  These are Class II violations pursuant to OAR 340-012-0055(2)(b).  


MAGNITUDE:  The magnitude of the violations is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,500 for a Class II, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(iii). 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violations have been ongoing for more than 28 


days.   


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent or Respondent reasonably 


should have known that the conduct would be a violation.  The requirement to submit an 


Action Plan after exceeding a benchmark is express in Respondent’s permit.  Respondent 


knew or should have known of the requirement.  By failing to ensure that Action Plans were 


developed and submitted, Respondent failed to exercise reasonable care to avoid the 


foreseeable risk of committing the violations.  
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"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E), because the violations have not been addressed and are ongoing.   


  


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  


It is designed to “level the playing field” by taking away any economic advantage the 


entity gained and to deter potential violators from deciding it is cheaper to violate and 


pay the penalty than to pay the costs of compliance.  In this case, “EB” receives a value 


of $667.  This is the amount Respondent gained by avoiding spending $1,080 to create 


three action plans on or before June 22, 2012.  This “EB” was calculated pursuant to 


OAR 340-012-0150(1) using the U.S. Environmental Protection Agency’s BEN 


computer model.  


 


PENALTY CALCULATION: 


 


Penalty = BP       + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,500 + [(0.1 x $1,500) x (0 + 0 + 4 + 2 + 2)] + $667 


 = $1,500 + [($150) x (8)] + $667 


 = $1,500 + $1,200 + $667 


 = $3,367 
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Violating a condition of a wastewater discharge permit, in violation 


of ORS 468B.025(2) and OAR 340-045-0015(5)(b).  


 


CLASSIFICATION:  These are Class I violations pursuant to OAR 340-012-0055(1)(o). 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(iii).  


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 7, according to OAR 340-012-


0145(2)(a), because Respondent had four Class I violations in Case No. WQ/SW-NWR-09-


024 and two Class I violations in Case No. WQ/SW-NWR-09-027.       


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is insufficient information on 


which to base a finding under paragraphs (3)(a)(A) or (B). 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(B), because the violation occurred on two days.  Respondent 


failed to conduct visual monitoring while discharging on two occasions during the 


2011/2012 monitoring period. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent or Respondent reasonably 


should have known that the conduct would be a violation.  The requirement to conduct 


visual monitoring of its stormwater discharges is express in Respondent’s permit.  


Additionally, on October 12, 2009, the Department’s agent sent Respondent a Notice of 


Noncompliance informing the company that its recent failure to perform valid visual 
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monitoring was a violation of its permit.  Respondent knew or should have known of the 


requirement.  By failing to ensure that the monitoring was conducted, Respondent failed to 


exercise reasonable care to avoid the foreseeable risk of committing the violation.   


 


"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), as the violations cannot be corrected. 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law. 


It is designed to “level the playing field” by taking away any economic advantage the 


entity gained and to deter potential violators from deciding it is cheaper to violate and 


pay the penalty than to pay the costs of compliance.  In this case, “EB” receives a value 


of $0 because the costs of not performing visual monitoring on two occasions are de 


minimis.  


 


PENALTY CALCULATION: 


 


Penalty = BP       + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (7 + 0 + 2 + 2 + 0)] + $0 


 = $3,000 + [($300) x (11)] + $0 


 = $3,000 + $3,300 + $0 


 = $6,300 
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Failure to submit Annual Reports, in violation of ORS 465.505(3) 


and OAR 340-124-0040(4)(a). 


 


CLASSIFICATION:  These are Class II violations pursuant to OAR 340-012-0097(2)(h). 


 


MAGNITUDE:  The magnitude of the violations is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


        


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is: BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $250 for a Class II, moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(5)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(5)(a)(G), because Respondent violated a dry cleaning facility statute and rule. 


 


“P” is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 3 according to 


OAR 340-012-0145(4)(a)(D), because there were six occurrences of the violation, one each 


year from 2006 through 2011.  


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was negligent. Every year, prior to the 


reporting deadline, DEQ provided Respondent with the reporting requirements, along with 


blank reporting forms for Respondent to complete. DEQ issued Respondent several Notices 


of Noncompliance, as well as Pre-Enforcement Notices in 2010 and 2011, notifying 


Respondent that he had failed to submit the Annual Reports. By not submitting the reports, 


Respondent failed to take reasonable care to avoid the violation. Given Respondent’s efforts 
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to work with the Department, and the resources available to Respondent, DEQ finds that 


Respondent acted negligently in committing the violations.  


 


"C" is Respondent’s efforts to correct the violations and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E), because Respondent did not address or correct the violations as 


described in paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding 


under paragraph (6)(a)(D). 


  


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding. 


 


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $250 + [(0.1 x $250) x (0 + 0 + 3 + 2 + 2)] + $0 


 = $250 + ($25 x 7) + $0 


 = $250 + $175 + $0 


 = $425 
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failing to conduct weekly inspections of the dry cleaning system for 


perceptible leaks, in violation of 40 CFR 63.322(k). 


 


CLASSIFICATION:  These are Class I violations pursuant to OAR 340-012-0097(1)(h). 


 


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1) as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


        


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,250 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(B). 


 


“P” is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation occurred for more than 28 days.  


Respondent has failed to conduct weekly inspections since at least 2007. 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent was reckless.  Every year, the Department provided 


Respondent with the inspection requirements and a calendar for Respondent to log the 


inspections.  DEQ issued Respondent a Pre-Enforcement Notice in November 2010, to 


notify Respondent that is was required to conduct weekly leak inspections.  Respondent 


consciously disregarded the substantial and unjustifiable risk of failing to inspect for perc 


leaks each week, and given the information and resources available to Respondent, 
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disregarding this risk constituted a gross deviation from the standard of care a reasonable 


person would observe in this situation.   


 


"C" is Respondent’s efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violation and the effects of the violation could not be 


corrected or minimized.   


  


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding. 


 


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,250 + [(0.1 x $1,250) x (0 + 0 + 4 + 6 + 0)] + $0 


 = $1,250 + ($125 x 10) + $0 


 = $1,250 + $1,250 + $0 


 = $2,500  
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EXHIBIT NO. 2 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 2:  Failure to submit Annual Reports in violation of OAR 340-124-


0040(4)(a). 


 


CLASSIFICATION:  These are Class II violations pursuant to OAR 340-012-0097(2)(h). 


 


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1) as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


        


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $250 for a Class II, moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(5)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(5)(a)(G). 


 


“P” is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(B), because Respondent violated the annual reporting 


requirement five times by failing to submit his 2007, 2008, 2009, 2010 and 2011 annual 


reports. 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent was reckless.  Every year, the Department provided 


Respondent with the reporting and inspection requirements, along with blank annual 


reporting forms for Respondent to fill out. DEQ issued Respondent a Pre-Enforcement 


Notice in November 2010, to notify Respondent that he had failed to submit the annual 


reports. Respondent consciously disregarded the substantial and unjustifiable risk of failing 


to submit annual reports, and given the information and resources available to Respondent, 
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disregarding this risk constituted a gross deviation from the standard of care a reasonable 


person would observe in this situation.   


 


"C" is Respondent’s efforts to correct the violations and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E), because Respondent did not address or correct the violations as 


described in paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding 


under paragraph (6)(a)(D). 


  


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding. 


 


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $250 + [(0.1 x $250) x (0 + 0 + 2 + 6 + 2)] + $0 


 = $250 + ($25 x 10) + $0 


 = $250 + $250 + $0 


 = $500  








 


  


Case No. WQ/D-ER-12-080  US Army 


Exhibit No. 1 Page 1 Umatilla Chemical Depot 
 


 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failure to collect monitoring data as required by Schedule B of 


WPCF Permit 101456, in violation of ORS 468B.025(2). 


 


CLASSIFICATION:  These are Class I violations pursuant to OAR 340-012-0055(1)(o). 


    


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is: BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,250 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(E)(i), because Respondent has a WPCF permit for a municipal wastewater 


treatment facility with a permitted flow of less than two million gallons per day. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because are no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(B), because there were three occurrences of the violation (three 


quarterly samples (NH3-N, NO3+NO2-N, and TKN). 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent reasonably should have known that failing to monitor as 


required by the permit would be a violation.  


 


"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violations could not be corrected. 
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"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $75.  


This is the amount Respondent gained by avoiding spending $75 to conduct quarterly 


monitoring by June 30, 2012. This “EB” was calculated pursuant to OAR 340-012-0150(1) 


using the U.S. Environmental Protection Agency’s BEN computer model.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,250 + [(0.1 x $1,250) x (0 + 0 + 2 + 2 + 0)] + $75 


 = $1,250 + [($125) x (4)] + $75 


 = $1,250 + $500 + $75 


 = $1,825 
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 EXHIBIT NO. 2 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 2:  Failure to collect monitoring data as required by Schedule B of 


WPCF Permit 102031, in violation of ORS 468B.025(2). 


 


CLASSIFICATION:  These are Class I violations pursuant to OAR 340-012-0055(1)(o). 


    


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is: BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,250 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(E)(i), because Respondent has a WPCF permit for a municipal wastewater 


treatment facility with a permitted flow of less than two million gallons per day. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because are no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 3 according to 


OAR 340-012-0145(4)(a)(C), because there were eight occurrences of the violation (three 


monthly visual inspections of the Imhoff tank, one quarterly visual inspection of the 


hydrosplitter, and four quarterly samples (BOD5, TSS, NH3-N, and NO3+NO2-N). 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent reasonably should have known that failing to monitor as 


required by the permit would be a violation.  


 


"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violations could not be corrected. 
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"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $91.  


This is the amount Respondent gained by avoiding spending $90 to conduct quarterly 


monitoring by June 30, 2012. This “EB” was calculated pursuant to OAR 340-012-0150(1) 


using the U.S. Environmental Protection Agency’s BEN computer model.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,250 + [(0.1 x $1,250) x (0 + 0 + 3 + 2 + 0)] + $91 


 = $1,250 + [($125) x (5)] + $91 


 = $1,250 + $625 + $91 


 = $1,966 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failing to report effluent limit exceedances to the Department and 


failing to resample in violation of Schedule D, Condition 2 of 


Respondent’s WPCF Permit and ORS 468B.025(2).  


 


CLASSIFICATION:  These are Class I violations pursuant to OAR 340-012-0055(1)(n).  


MAGNITUDE:  The magnitude of the violations is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,250 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(E)(i), because Respondent operates a private utility wastewater treatment facility 


with a permitted flow of less than two million gallons per day. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because the Respondent has no prior significant actions.  


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(B), because the violation occurred on six occasions.  Respondent 


failed to report six effluent limit exceedances and resample. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent. Respondent holds a WPCF 


Permit and should know that it is required to report effluent limitation exceedances to the 


Department and resample in the event of an exceedance. Respondent previously received 


two Notices of Noncompliance from DEQ for failing to perform some of the required 


monitoring in 2002, and for failing to submit an annual monitoring report in 2004.  By 


failing to report exceedances and resample as required, Respondent failed to take reasonable 


care to avoid a foreseeable risk that it would violate its Permit.        
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"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violation or the effects of the violation could not be 


corrected or minimized. 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $360.  


This is the amount Respondent gained by avoiding spending $52 to resample for BOD5 and 


$275 to resample for TKN ($55 per sample).  This “EB” was calculated pursuant to OAR 


340-012-0150(1) using the U.S. Environmental Protection Agency’s BEN computer model.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,250 + [(0.1 x $1,250) x (0 + 0 + 2 + 2 + 0)] + $360 


 = $1,250 + [($125) x (4)] + $360 


 = $1,250 + $500 + $360 


 = $2,110 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Violating the Nitrate limit in Schedule A, condition 1(c) of WPCF 


Permit No.102295, Schedule A, condition 1(c) and ORS 


468B.025(2).   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(m). 


 


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,250 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(E)(i).   


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 2 according to OAR 340-012-


0145(2)(a)(C), because Respondent has one prior significant action (Case No.: WQ/I-ER-


09-125) that included one Class I violation.    


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of -1 


according to OAR 340-012-0145(3)(a)(B), because the violations were uncorrectable.  


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because the violation existed for one day or less and did not 


recur on the same day. 


 


"M" is the mental state of the Respondent and receives a value of 2 pursuant to OAR 340-012-


0145(5)(a)(B) because Respondent’s conduct was negligent.  Respondent is permitted under 


NPDES Permit Number 101433 which expressly requires Respondent to meet waste 


removal efficiency limitations.  By failing to do so, Respondent failed to take reasonable 


care to avoid a foreseeable risk that it would violate a condition of its Permit. 
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"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the effects of the violation could not be corrected or 


minimized.   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0.  


Respondent did not benefit economically from this violation.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1250 + [(0.1 x $1250) x (2 + -1 + 0 + 2 + 0)] + $0 


 = $1250 + [($125) x (3)] + $0 


 = $1250 + $375 + $0 


 = $1,625 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failure to comply with the terms and conditions of Schedule A, 


Condition 2 of NPDES Permit 1300-J in violation of ORS 


468B.025(2). 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(k)(A). 


    


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,250 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(E)(i). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because are no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(C), because the violation recurred on the same day. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent.  By exceeding the oil and 


grease limitation and failing to take actions necessary to limit the discharge from the 


Oil/Water separator and activated carbon treatment system, Respondent failed to exercise 


reasonable care to avoid the foreseeable risk of committing a violation.  


 


"C" is Respondent's efforts to correct the violation and receives a value -2 according to OAR 


340-012-0145(6)(a)(B), because Respondent made extraordinary efforts to ensure the 


violation would not be repeated. In order to prevent this exceedance from reoccurring, 
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Respondent took the following actions: (1) changed out the activated carbon canisters; (2) 


cleaned out two sumps; (3) initiated daily monitoring of the wastewater system and the 


holding pond. Later this year Respondent plans to: (1) clean out the oil water separator(s) 


and holding pond; (2) draft a standing operating procedure that will detail the required in-


series modes of operation for the wastewater treatment system; and (3) retrain terminal 


operators to follow the new standard operating procedure.    


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 


because Respondent received no economic benefit from the violation.  


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,250 + [(0.1 x $1,250) x (0 + 0 + 2 + 2 + (-2 )] + $0 


 = $1,250 + [($125) x (2)] + $0 


 = $1,250 + $250 + $0 


 = $1,500 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Discharging wastes to waters of the state without a waste discharge 


permit in violation of ORS 468B.050(1)(a). 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(c). 


    


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $4,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(2)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(D) because Respondent does not have a National Pollutant Discharge 


Elimination System Permit. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 2 according to OAR 340-012-


0145(2)(a)(C), because Respondent has one prior significant action, Case No.:  WQ/I-WR-


10-043 that includes one Class I violation. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of -1 


according to OAR 340-012-0145(3)(a)(B), because the violation was uncorrectable and the 


respondent took reasonable efforts to minimize the effects of the violations cited as prior 


significant actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because the violation existed for one day or less and did not 


recur on the same day. 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was reckless.  Respondent previously had 


paint spills at its Facility that discharged to waters of the state (case no.: WQ/I-WR-10-043).  


By failing to prevent and thoroughly clean up paint spills and otherwise contain paint-laden 


runoff from its facility, Respondent consciously disregarded a substantial and unjustifiable 
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risk that paint-laden wastewater would run off its facility and eventually discharge into 


waters of the state.    


 


"C" is Respondent's efforts to correct the violation and receives a value of -2 according to OAR 


340-012-0145(6)(a)(B), because Respondent made extraordinary efforts to ensure the 


violation would not be repeated by promptly purchasing two filter presses, hiring a Liquids 


Control Manager who is responsible for handling all liquid movement, inventory, and 


cleanup, developing and implementing a staff training program and spill response program, 


and revising the facilities waste management and liquid storage practices. 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $902.  


This is the amount Respondent gained by delaying spending $39,800 on two filter presses to 


help it minimize and contain its liquid waste.  This “EB” was calculated pursuant to OAR 


340-012-0150(1) using the U.S. Environmental Protection Agency’s BEN computer model.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $4,000 + [(0.1 x $4,000) x (2 + -1 + 0 + 6 + -2)] + $902 


 = $4,000 + [($400) x (5)] + $902 


 = $4,000 + $2,000 + $902 


 = $6,902 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Failure to comply with the terms and conditions of Schedule A, 


Condition 8, of WPCF Permit 101438 in violation of ORS 


468B.025(2).  


 


CLASSIFICATION:  These are Class I violations pursuant to OAR 340-012-0055(1)(m).  


MAGNITUDE:  The magnitude of the violations is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(ii). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17) , in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because there are no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 3 according to 


OAR 340-012-0145(4)(a)(C), because the violations occurred on 14 occasions.  


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent or Respondent reasonably 


should have known that the conduct would be a violation. Respondent had constructive 


notice because Respondent holds a permit requiring that nitrogen loading from all sources 


shall not exceed the agronomic rates necessary for raising crops.  Respondent’s failure to 


take the actions necessary to refrain from over-applying nitrogen constitutes a failure to 


exercise reasonable care to avoid the foreseeable risk of committing the violation. 
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"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violation could not be corrected or the effects of the 


violation minimized.  


 


“EB” "EB" is the approximate economic benefit that an entity gained by not complying with the 


law.  It is designed to “level the playing field” by taking away any economic advantage the 


entity gained and to deter potential violators from deciding it is cheaper to violate and pay 


the penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0. 


The “EB” is de minimus because the wastewater could have been spread over a larger area 


with little or no extra cost.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (0 + 0 + 3 + 2 + 0)] + $0 


 = $3,000+ [($300) x 5)] + $0 


 = $3,000 + $1500 + $0 


 = $4,500 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Violating the TSS monthly average in March 2008 by 62.5% in 


violation of NPDES Permit No.101433, Schedule A, condition 


1(b)(2) and ORS 468B.025(2).   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(k)(A). 


 


MAGNITUDE:  The magnitude of the violation is minor pursuant to OAR 340-012-


0135(2)(a)(C)(i), as the dilution of the technology based effluent 


limitation exceedance was 10 or more when calculated pursuant to 


the formula in OAR 340-012-0135(2)(a)(C)(i). 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $625 for a Class I, minor magnitude violation in the matrix 


listed in OAR 340-012-0140(4)(b)(A)(iii) and applicable pursuant to OAR 340-012-


0140(4)(a)(E)(i).   


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions.    


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history.  


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because the violation existed for one day or less and did not 


recur on the same day. 


 


"M" is the mental state of the Respondent and receives a value of 2 pursuant to OAR 340-012-


0145(5)(a)(B) because Respondent was negligent.  Respondent is permitted under NPDES 


Permit Number 101433 which expressly requires Respondent to meet waste removal 


efficiency limitations.  By failing to do so, Respondent failed to take reasonable care to 


avoid a foreseeable risk that it would violate a condition of its Permit. 
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"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the effects of the violation could not be corrected or 


minimized.   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0.  


Respondent did not benefit economically from this violation.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $625 + [(0.1 x $625) x (0 + 0 + 0 + 2 + 0)] + $0 


 = $625 + [($62.50) x (2)] + $0 


 = $625 + $125 + $0 


 = $750 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Exceeding a water quality-based permit effluent limit in violation of 


ORS 468B.025(2) and OAR 340-045-0015(5)(b).   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(l).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0135(2)(a)(B)(ii), as the flow in the receiving stream at the time 


of the violation was more than but less than twice the flow used to 


calculate the effluent limit violated.    


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $4,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(2)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(2)(a)(E)(i). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0.  “P” is assigned an initial value 


of 2 according to OAR 340-012-0145(2)(a)(C), because Respondent has 1 Class I 


equivalent prior significant action, established in Case No. WQ/M-NWR-07-172.  This 


value is reduced to 0 according to OAR 340-012-0145(2)(d)(A)(i), as the prior significant 


action is more than three, but less than five, years old.  


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(b), because the sum of the “P” and “H” factors cannot 


be less than 0.   


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because the violation occurred on a single day and did not 


recur. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent or Respondent reasonably 


should have known that the conduct would be a violation.  Operator error led to a shutdown 


of Respondent’s dechlorination system and the violation of the chlorine effluent limit.  
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Respondent failed to exercise reasonable care to avoid the foreseeable risk of committing 


the violation.   


  


"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violation or the effects of the violation could not be 


corrected or minimized.   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as any 


economic benefit Respondent received was de minimis.  This doesn’t have the template 


language that talks about using EPA’s BEN model to calculate. 


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $4,000 + [(0.1 x $4,000) x (0 + 0 + 0 + 2 + 0)] + $0 


 = $4,000 + [($400 x 2)] + $0 


 = $4,000 + $800 + $0 


 = $4,800 
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 EXHIBIT 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Discharging a waste that reduces the quality of state waters below a 


water quality standard in violation of ORS 468B.025(1)(b).   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(b).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,250 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(E)(i). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 10 according to OAR 340-012-


0145(2)(a) and (b), because Respondent has 21 Class I equivalent prior significant actions 


stemming from Case Nos. WQ/M-WR-10-073 and WQ/M-WR-10-060. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is insufficient information on 


which to base another finding. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(B), because the violation continued for more than two but less 


than seven days. 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was reckless.  Respondent could have abated 


the illegal discharge of raw sewage if it had acted more promptly to rent a temporary pump 


after discovering that its pump was malfunctioning.  Respondent disregarded a substantial 


and unjustifiable risk that the violation would occur. 


 







 


  


Case No. WQ/M-WR-12-105  


Exhibit 1 -Page 2 -  
 


"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violation or the effects of the violation could not be 


corrected or minimized.    


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $1,038.  


This is the benefit that Respondent received as a result of avoiding $1,015 in labor and 


rental costs by waiting three days to install a replacement pump after Respondent 


discovered that its pump failed. This “EB” was calculated pursuant to OAR 340-012-


0150(1) using the U.S. Environmental Protection Agency’s BEN computer model.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,250 + [(0.1 x $1,250) x (10 + 0 + 2 + 6 + 0)] + $1,038 


 = $1,250 + [($125 x 18)] + $1,038 


 = $1,250 + $2,250 + $1,038 


 = $4,538 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Performing sewage disposal services without first obtaining the 


required license, in violation of ORS 454.695(1) and OAR 340-071-


0600(1).  


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0060(1)(a). 


 


MAGNITUDE:  The magnitude of the violation is major pursuant to OAR 340-012-


0130(3), as the Department finds that the violation had a significant 


adverse impact on human health or the environment.  As a result of 


performing sewage disposal services without the required license, 


Respondent destroyed the onsite system at the property, causing the 


system to fail and discharge untreated or partially treated sewage 


onto the ground surface.    


     


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty that is $2,500 for a Class I, major magnitude violation in the matrix listed 


in OAR 340-012-0140(4)(b)(A)(i) and applicable pursuant to OAR 340-012-


0140(4)(a)(E)(iv) because Respondent performed sewage disposal services. 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history. 


 


"O" is whether or not the violation was repeated or ongoing and receives a value of 2 according 


to OAR 340-012-0145(4)(a)(B), because the violation occurred on at least two days.  


Respondent performed unlicensed sewage disposal services on or about December 29, 2011 


and January 5, 2012.   


 


"M" is the mental state of the Respondent and receives a value of 2 pursuant to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent.  Respondent is a sewage 


pumper and holds a DEQ pumper’s license, so Respondent should have been aware that an 


installer’s license is required in order to perform sewage disposal services.  When 


Respondent performed sewage disposal services without a DEQ installer’s license, 
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Respondent failed to take reasonable care to avoid a foreseeable risk that he would violate 


the law.  


 


"C" is Respondent’s efforts to correct the violation and receives a value of 0 according to 


OAR 340-012-0145(6)(a)(D), because the violation could not be corrected.  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law. 


It is designed to “level the playing field” by taking away any economic advantage the 


entity gained and to deter potential violators from deciding it is cheaper to violate and 


pay the penalty than to pay the costs of compliance.  In this case, “EB” receives a value 


of $0 because the Department finds that the amount Respondent gained by delaying 


spending $275 to take the required onsite installer class and $100 to obtain a surety bond 


was de minimis. 


 


PENALTY CALCULATION: 


 


Penalty  = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


  = $2,500 + [(0.1 x $2,500) x (0 + 0 + 2 + 2 + 0)] + $0 


  = $2,500 + ($250 x 4) + $0 


  = $2,500 + $1,000 + $0 


  = $3,500 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Disposing of septic tank, holding tank, chemical toilet, privy or other 


treatment facility contents in a manner or location not authorized by 


the Department, in violation of OAR 340-071-0600(13)(a).  


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0060(1)(c). 


 


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


     


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty that is $1,250 for a Class I, moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(E)(iv) because Respondent performed onsite sewage disposal services. 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 3 according to OAR 340-012-


0145(2)(a)(C) and (D), because Respondent had a prior significant action in Expedited 


Enforcement Offer No. WQ-OS-0014 that included two Class I violations in the same media 


as the current violations. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of -2 


according to OAR 340-012-0145(3)(a)(A), because Respondent corrected all violations 


cited as PSAs. 


 


"O" is whether or not the violation was repeated or ongoing and receives a value of 0 according 


to OAR 340-012-0145(4)(a)(A), because the violation occurred on one day: August 2, 


2012.   


 


"M" is the mental state of the Respondent and receives a value of 2 pursuant to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent.  Respondent holds a pumper 


license from DEQ and is aware of the requirements for transporting and disposing of 


septage.  When Respondent transported and disposed of septage in a manner that caused 
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septage to spill and be deposited on the ground or highway, Respondent failed to take 


reasonable care to avoid a foreseeable risk that it would violate the law.  


 


"C" is Respondent’s efforts to correct the violation and receives a value of 0 according to 


OAR 340-012-0145(6)(a)(D), because the violation could not be corrected.  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law. 


It is designed to “level the playing field” by taking away any economic advantage the 


entity gained and to deter potential violators from deciding it is cheaper to violate and 


pay the penalty than to pay the costs of compliance.  In this case, “EB” receives a value 


of $0 pursuant to OAR 340-012-0150(3) because there is insufficient information 


reasonably available to the Department on which to make an estimate under section (2) of 


this rule.    


 


PENALTY CALCULATION: 


 


Penalty  = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


  = $1,250 + [(0.1 x $1,250) x (3 + (-2) + 0 + 2 + 0)] + $0 


  = $1,250 + ($125 x 3) + $0 


  = $1,250 + $375 + $0 


  = $1,625 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failing to comply with a DEQ final order, in violation of ORS 


468.100. 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0053(1)(a). 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


        


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,250 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(E) because Respondent violated an on-site sewage disposal statute and rule. 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 2 according to OAR 340-012-


0145(2)(a)(A), because Respondent has one Class I violation in case no. WQ/OS-WR-12-


002. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), as there is insufficient information on which to 


base another finding.   


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation has been ongoing since June 2012, 


when the order to comply became final.   


 


"M" is the mental state of the Respondent and receives a value of 6 pursuant to OAR 340-012-


0145(5)(a)(C) because Respondent’s conduct was reckless meaning Respondent 


consciously disregarded a substantial and unjustifiable risk that the violation would occur.  


Respondent knew that it needed correct the violation and submit documentation to DEQ but 


failed to do so.   
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"C" is Respondent’s efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E) since Respondent did not address the violation and there is 


insufficient information to make a finding under paragraph (6)(a)(D).  As of the date of the 


Notice, Respondent has not submitted documentation to DEQ showing that he has complied 


with the final order.   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $612.  


This is the amount Respondent gained by avoiding, since June 2012 when the order became 


final, spending $595 for an on-site sewage disposal system repair permit.  Respondent also 


has avoided spending approximately $10,000 to repair the on-site sewage disposal system. 


This “EB” was calculated pursuant to OAR 340-012-0150(1) using the U.S. Environmental 


Protection Agency’s BEN computer model.   


  


PENALTY CALCULATION:  Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,250 + [(0.1 x $1,250) x (2 + 0 + 4 + 6 + 2)] + $612 


 = $1,250 + ($125 x 14) + $612 


 = $1,250 + $1,750 + $612 


 = $3,612 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Owning, operating or using an onsite wastewater treatment system 


that is discharging sewage or effluent to the ground surface, in 


violation of OAR 340-071-0130(3).  


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0060(1)(d). 


 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


     


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,250 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(4)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(F) because Respondent violated an onsite sewage disposal rule and Respondent 


is not a residential owner-occupant. 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because the Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history. 


 


"O" is whether or not the violation was repeated or ongoing and receives a value of 2 according 


to OAR 340-012-0145(4)(a)(B), because the violation existed for or occurred on at least 


two days.  Klamath County received a report of sewage being discharged onto the ground 


surface on September 10, 2012 and Klamath County staff observed the discharge on 


September 11, 2012.     


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was reckless.  In October 2008 or earlier, the 


onsite system discharged sewage onto the ground surface.  Between 2008 and the present, 


Respondent was in contact with DEQ and was aware that he would either have to replace 


the onsite system or connect the facility to the City of Chiloquin’s sewer system.  
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Respondent failed to take permanent action to implement either of these solutions.  By 


failing to take timely action to implement a permanent solution and continuing to own or 


operate a failing system, Respondent consciously disregarded a substantial and unjustifiable 


risk that the system would discharge sewage onto the ground surface, thereby exposing the 


public to a health hazard.  This risk was of such a nature and degree that disregarding it 


constituted a gross deviation from the standard of care a reasonable person would observe in 


that situation.        


 


"C" is Respondent’s efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E), because Respondent did not address the violation as described in 


paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 


paragraph (6)(a)(D). 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law. 


It is designed to “level the playing field” by taking away any economic advantage the 


entity gained and to deter potential violators from deciding it is cheaper to violate and 


pay the penalty than to pay the costs of compliance.  In this case, “EB” receives a value of 


$75,024.  This is the amount Respondent gained by avoiding spending $100,000 to connect 


the property to the City of Chiloquin’s sewer system.  This “EB” was calculated pursuant to 


OAR 340-012-0150(1) using the U.S. Environmental Protection Agency’s BEN computer 


model.   


 


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


  = $1,250 + [(0.1 x $1,250) x (0 + 0 + 2 + 6 + 2)] + $75,024 


  = $1,250 + [($125) x (10)] + $75,024 


  = $1,250 + $1,250 + $75,024 


  = $77,524 
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 EXHIBIT NO. 2 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 2:  Failing to submit an application for change-in-service or permanent 


closure, a written request to return the USTs to operational status, 


or a written request to extend the expiration date of the temporary 


closure certificate, in violation of OAR 340-150-0167(2). 


 


CLASSIFICATION:  This is a Class II violation pursuant to OAR 340-012-0053(2). 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


        


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $250 for a Class II, moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(5)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(5)(a)(E) because Respondent is the permittee of one UST facility. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives an initial value of 2 according to OAR 340-


012-0145(2)(a)(C), because Respondent has one Class I prior significant action in case no. 


LQ/UST-WR-08-192.  The value is reduced by 2 to zero according to OAR 340-012-


0145(2)(d)(A)(ii) because the prior action was issued more than three years ago. 


 


"H" is Respondent’s history of correcting prior significant actions and receives an initial value of 


0 according to OAR 340-012-0145(3)(a)(C), because there is insufficient information on 


which to base another value.  The value is increased to 1 under OAR 340-012-0145(3)(b) 


because the sum of P and H cannot be less than 1.   


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation has been ongoing since May 2009, 30 


days before the expiration of the Respondent’s temporary closure certificate.   


 


"M" is the mental state of the Respondent and receives a value of 6 pursuant to OAR 340-012-


0145(5)(a)(C) because Respondent’s conduct was reckless.  In 2008, Respondent submitted 


a Notification of Temporary Closure requesting that DEQ issue a temporary closure permit. 
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The temporary closure certificate issued to Respondent informed him that he needed to 


request an extension in order to continue to operate the USTs in temporary closure.  When 


Respondent failed to request the extension, Respondent consciously disregarded a 


substantial and unjustifiable risk that the violation would occur.   


  


"C" is Respondent’s efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E) since Respondent did not address the violation and there is 


insufficient information to make a finding under paragraph (6)(a)(D).  As of the date of the 


Notice, Respondent has not corrected the violation.   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $3,592 as 


calculated using the BEN computer model, pursuant to OAR 340-012-0150.  Since May 


2009, Respondent has avoided spending $5,000 to have a site assessment completed in 


order to extend the temporary closure permit.     


  


PENALTY CALCULATION:  Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $250 + [(0.1 x $250) x (0 + 1 + 4 + 6 + 2)] + $3,592 


 = $250 + ($25 x 13) + $3,592 


 = $250 + $325 + $3,592 


 = $4,167 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failing to comply with a DEQ final order, in violation of ORS 


466.994. 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0053(1)(a). 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


        


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $500 for a Class I, moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(5)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(5)(a)(E) because Respondent is the permittee of one UST facility. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives an initial value of 2 according to OAR 340-


012-0145(2)(a)(C), because Respondent has one Class I prior significant action in case no. 


LQ/UST-WR-08-192.  The value is reduced by 2 to zero according to OAR 340-012-


0145(2)(d)(A)(ii) because the prior action was issued more than three years ago. 


 


"H" is Respondent’s history of correcting prior significant actions and receives an initial value of 


0 according to OAR 340-012-0145(3)(a)(C), because there is insufficient information on 


which to base another value.  The value is increased to 1 under OAR 340-012-0145(3)(b) 


because the sum of P and H cannot be less than 1.   


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation has been ongoing since December 2008 


when the Order became final.   


 


"M" is the mental state of the Respondent and receives a value of 6 pursuant to OAR 340-012-


0145(5)(a) (C) because Respondent’s conduct was reckless meaning Respondent 


consciously disregarded a substantial and unjustifiable risk that the violation would occur.  


The Order issued to Respondent required Respondent to submit documentation showing 


that the violation had been corrected by a date certain.  Respondent knew that he needed 
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correct the violation and submit documentation to DEQ but failed to do so, disregarding a 


substantial and unjustifiable risk that the violation would continue to occur. 


  


"C" is Respondent’s efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(E) since Respondent did not address the violation and there is insufficient 


information to make a finding under paragraph (6)(a)(D).  As of the date of the Notice, 


Respondent has not corrected the violation.   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $463 as 


calculated using the BEN computer model, pursuant to OAR 340-012-0150.  Since 


December 2008, Respondent has continued to avoid the cost of a corrosion protection 


system inspection and test in the amount of $650.   


  


PENALTY CALCULATION:  Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $500 + [(0.1 x $500) x (0 + 1 + 4 + 6 + 2)] + $463 


 = $500 + ($50 x 13) + $463 


 = $500 + $650 + $463 


 = $1,613 
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 EXHIBIT 8 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 8:  Failing, upon DEQ’s request, to provide information relevant to the 


identification, nature, volume, and disposal of hazardous 


substances that Respondent generated and stored, in violation of 


ORS 465.250(1). 


 


CLASSIFICATION:  This is a Class II violation pursuant to OAR 340-012-0073(2).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


      


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $2,000 for a Class II, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(2)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(2)(a)(M), as this is a violation of an environmental cleanup statute. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), as Respondent does not have any prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent does not have any prior 


significant actions.  


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation has been ongoing since at least 


November 4, 2011, when DEQ last requested the information from Respondent.  


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent had actual knowledge that its conduct would be a 


violation and respondent's conduct was intentional.  DEQ notified Respondent in a letter 


dated November 4, 2011 that failing to provide the information could result in a civil 


penalty.  Respondent notified DEQ by letter on December 7, 2011 that it would not provide 


any of the information DEQ requested. 
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"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E), because Respondent has not addressed the violation.  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0, as 


DEQ determines that Respondent has not gained an economic benefit as a result of this 


violation.  


  


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $2,000 + [(0.1 x $2,000) x (0 + 0 + 4 + 6 + 2)] + $0 


 = $2,000 + [($200 x 12)] + $0 


 = $2,000 + $2,400 + $0 


 = $4,400 
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 EXHIBIT 7 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 7:  Offering hazardous waste for transport without a hazardous waste 


manifest in violation of 40 CFR 263.20(a), adopted pursuant to OAR 


340-100-0002. 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0068(1)(e).  


MAGNITUDE:  The magnitude of the violation is minor pursuant to OAR 340-012-


0135(4)(c)(C)(i), as the violation involved less than 250 gallons or 


1,500 pounds of hazardous waste.     


    


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


"BP" is the base penalty, which is $1,500 for a Class I, minor magnitude violation in the matrix 


listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(H). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior significant 


actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because there is insufficient information on which to base 


another finding. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent was negligent.  Respondent has a duty of care to 


determine the regulations that are applicable to its business and to take the necessary 


measures to comply with those regulations.  By failing to take the measures necessary to 


prepare a hazardous waste manifest, Respondent failed to exercise reasonable care to avoid 


the foreseeable risk of committing the violation. 


  


"C" is Respondent's efforts to correct the violation and receives a value of 0 pursuant to OAR 


340-012-0145(1)(c) as the violation could not be corrected. 
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"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding.     


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,500 + [(0.1 x $1,500) x (0 + 0 + 0 + 2 + 0)] + $0 


 = $1,500 + [(150 x 2)] + 0 


 = $1,500 + $300 + $0 


 = $1,800 
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 EXHIBIT 6 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 6:  Storage of hazardous waste without a storage facility permit, in 


violation of ORS 466.095(1)(a). 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0068(1)(c).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(2)(a)(J)(i). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior significant 


actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation was repeated or ongoing for more than 


28 days. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent was negligent.  Respondent has a duty of care to 


determine the regulations that are applicable to its business and to take the necessary 


measures to comply with those regulations.  By failing to take the measures necessary to 


ensure that its waste was timely transferred to a permitted facility, Respondent failed to 


exercise reasonable care to avoid the foreseeable risk of committing the violation. 


  







 


  


 -Page 2 -  
 


"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(C), as Respondent did not address the violation as described in 


paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 


paragraph (6)(a)(D).   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding.     


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (0 + 0 + 4 + 2 + 2)] + $0 


 = $3,000 + [($300 x 8)] + 0 


 = $3,000 + $2,400 + $0 


 = $5,400 
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 EXHIBIT 5 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 5:  Failure to perform hazardous water determinations, in violation of 


OAR 340-102-0011(2). 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0068(1)(a).  


MAGNITUDE:  The magnitude of the violation is major pursuant to OAR 340-012-


0135(4)(a)(A) because Respondent failed to determine whether five 


or more waste streams were hazardous waste. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


"BP" is the base penalty, which is $6,000 for a Class I major magnitude violation in the matrix 


listed in OAR 340-012-0140(2)(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(H). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior significant 


actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation was ongoing for more than 28 days. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent.  Respondent has a duty of care 


to determine the regulations that are applicable to its business and to take the necessary 


measures to comply with those regulations.  By failing to take the measures necessary to 


determine whether its wastes were hazardous, Respondent failed to exercise reasonable care 


to avoid the foreseeable risk of committing the violation. 


  


"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(C), as Respondent did not address the violation as described in 


paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 


paragraph (6)(a)(D).   
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"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding.     


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $6,000 + [(0.1 x $6,000) x (0 + 0 + 4 + 2 + 2)] + $0 


 = $6,000 + [(600 x 8)] + 0 


 = $6,000 + $4,800 + $0 


 = $10,800. 
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 EXHIBIT 4 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 4:  Transport of hazardous waste without a hazardous waste manifest in 


violation of 40 CFR 263.20(c), adopted pursuant to OAR 340-100-


0002.   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0068(1)(e).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is insufficient information with which to 


determine a selected magnitude specified in OAR 340-012-0135 for 


this violation, and the information reasonably available to the 


Department does not indicate a minor or major magnitude.  


       


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(H). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior significant 


actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because there is insufficient information on which to base 


another finding. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent was negligent.  Respondent has a duty of care to 


determine the regulations that are applicable to its business and to take the necessary 


measures to comply with those regulations.  By failing to take the measures necessary to 


prepare a hazardous waste manifest, Respondent failed to exercise reasonable care to avoid 


the foreseeable risk of committing the violation. 
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"C" is Respondent's efforts to correct the violation and receives a value of 0 pursuant to OAR 


340-012-0145(1)(c) as the violation could not be corrected. 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding.     


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (0 + 0 + 0 + 2 + 0)] + $0 


 = $3,000 + [($300 x 2)] + 0 


 = $3,000 + $600 + $0 


 = $3,600 








 


  


 -Page 1 -  
 


 EXHIBIT 3 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 3:  Storage of hazardous waste without a storage facility permit in 


violation of ORS 466.095(1)(a).   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0068(1)(c).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is there is no selected magnitude specified in 


OAR 340-012-0135 for this violation, and the information 


reasonably available to the Department does not indicate a minor or 


major magnitude.       


  


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


"BP" is the base penalty, which is $3,000 for a Class I moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(H). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior significant 


actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation was repeated or ongoing for more than 


28 days. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent was negligent.  Respondent has a duty of care to 


determine the regulations that are applicable to its business and to take the necessary 


measures to comply with those regulations.  By failing to take the measures necessary to 


ensure that its waste was timely transferred to a permitted facility, Respondent failed to 


exercise reasonable care to avoid the foreseeable risk of committing the violation. 


  


"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(C), as Respondent did not address the violation as described in 
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paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 


paragraph (6)(a)(D). 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding.     


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (0 + 0 + 4 + 2 + 2)] + $0 


 = $3,000 + [($300 x 8)] + 0 


 = $3,000 + $2,400 + $0 


 = $5,400 
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 EXHIBIT 2 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 2:  Failure to perform hazardous water determinations, in violation of 


OAR 340-102-0011(2). 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0068(1)(a).  


MAGNITUDE:  The magnitude of the violation is major pursuant to OAR 340-012-


0135(4)(a)(A) because Respondent failed to determine whether five 


or more waste streams were hazardous waste. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


"BP" is the base penalty, which is $6,000 for a Class I major magnitude violation in the matrix 


listed in OAR 340-012-0140(3)(b)(A)(i) and applicable pursuant to OAR 340-012-


0140(3)(a)(H). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior significant 


actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation was ongoing for more than 28 days. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent.  Respondent has a duty of care 


to determine the regulations that are applicable to its business and to take the necessary 


measures to comply with those regulations.  By failing to take the measures necessary to 


determine whether its wastes were hazardous, Respondent failed to exercise reasonable care 


to avoid the foreseeable risk of committing the violation. 


  


"C" is Respondent's efforts to correct the violation and receives a value of -1 according to OAR 


340-012-0145(6)(a)(C), because Respondent eventually made efforts to correct the 


violation.   
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"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding.     


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $6,000 + [(0.1 x $6,000) x (0 + 0 + 4 + 2 + (-)1)] + $0 


 = $6,000 + [($600 x 5)] + 0 


 = $6,000 + $3,000 + $0 


 = $9,000 
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 EXHIBIT 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failure to allow DEQ to inspect a hazardous waste generator’s 


facility, in violation of ORS 466.195. 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0053(1)(c).  


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(H). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior significant 


actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because the violation was not repeated or ongoing. 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent had actual knowledge that its conduct would be a 


violation and Respondent’s conduct was intentional.  Despite being advised by DEQ several 


times during the inspection that Respondent was legally obligated to allow access to its 


facility and records, Respondent continued to deny access. 


  


"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E), because Respondent did not address the violation as described in 


paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 
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paragraph (6)(a)(D).  Respondent repeatedly denied access despite several requests from 


DEQ. 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding.     


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $4,000) x (0 + 0 + 0 + 6 + 2)] + $0 


 = $3,000 + [($300 x 8)] + 0 


 = $3,000 + $2,400 + $0 


 = $5,400 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failing to determine if a residue (as defined in OAR 340-100-


0010(2)(ee) and 40 CFR 261.2) Respondent generated at the Facility 


was hazardous waste, in violation of OAR 340-102-0011(2).   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0068(1)(a).  


 


MAGNITUDE:  The magnitude of the violation is minor pursuant to OAR 340-012-


0135(4)(a)(C), as Respondent failed to make a hazardous waste 


determination on one waste stream. 


  


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,500 for a Class I, minor magnitude violation in the matrix 


listed in OAR 340-012-0140(3)(b)(A)(iii) and applicable pursuant to OAR 340-012-


0140(3)(a)(H) because Respondent is a small quantity generator of hazardous waste. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A) because there are no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C) because there is no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because there was one occurrence of the violation.  


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent, as an environmental consultant experienced in cleanup 


operations, reasonably should have known that failing to properly characterize this waste 


(treatment residuals from a dry cleaner cleanup site) would be a violation.  


 


"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violation could not be corrected. 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 
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penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $284. 


This is the amount Respondent gained by avoiding spending $450 to dispose of the two 


drums of waste as hazardous waste rather than solid waste. This “EB” was calculated 


pursuant to OAR 340-012-0150(1) using the U.S. Environmental Protection Agency’s BEN 


computer model.   


  


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,500 + [(0.1 x $1,500) x (0 + 0 + 0 + 2 + 0)] + $284 


 = $1,500 + [($150) x (2)] + $284 


 = $1,500 + $300 + $284 


 = $2,084 
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 EXHIBIT NO. 2 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 2:  Failing to close or cover containers storing used oil, in violation of 


OAR 340-111-0032(2). 


 


CLASSIFICATION:  These are Class II violations pursuant to OAR 340-012-0072(2)(e). 


MAGNITUDE:  The magnitude of the violations is moderate pursuant to OAR 340-


012-0135(5)(a)(B), as Respondent failed to close or cover containers 


storing approximately 750 total gallons of used oil.  


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is: BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $625 for a Class II, moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(4)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(H), because Respondent is a used oil generator and the violations of this used oil 


rule were not related to a spill or release.  


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent. “P” receives a value of 7 according to OAR 340-012-


0145(2)(a)(C) and (D), because Respondent has a total of six Class I or Class I equivalent 


prior significant actions (DEQ case numbers LQ/SW-WR-09-135, issued November 13, 


2009, and LQ/SW-ER-11-193, issued December 13, 2011). 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is insufficient information on 


which to base a finding under paragraphs (3)(a)(A) or (B). 


 


"O" is whether the violation was repeated or ongoing and receives a value of 3 according to 


OAR 340-012-0145(4)(a)(C), because at least seven used oil containers were not closed or 


covered. 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was reckless. Given that Respondent has had 


the recent prior enforcement listed above under “P” – which included violations of used oil 


management requirements – and a Warning Letter identifying used oil labeling violations at 


this facility one year ago, Respondent’s failure to close or cover multiple containers storing 


used oil constitutes a gross deviation from the reasonable standard of care and a conscious 
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disregard for the substantial and unjustifiable risk that that Respondent would commit this 


violation.    


 


"C" is Respondent's efforts to correct the violation and receives a value of -1 according to OAR 


340-012-0145(6)(a)(C), because Respondent eventually made efforts to correct the violation 


by properly covering the containers.  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0, as 


any economic benefit associated with this violation is de minimis.  


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $625 + [(0.1 x $625) x (7 + 0 + 3 + 6 – 1)] + $0 


 = $625 + [($62.50) x (15)] + $0 


 = $625 + $937.50 + $0 


 = $1,562.50 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failing to label containers storing used oil with the words “Used 


Oil,” in violation of 40 CFR 279.22(c)(1). 


 


CLASSIFICATION:  These are Class II violations pursuant to OAR 340-012-0072(2)(e). 


MAGNITUDE:  The magnitude of the violations is moderate pursuant to OAR 340-


012-0135(5)(a)(B), as Respondent failed to label containers storing 


approximately 750 total gallons of used oil.  


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is: BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $625 for a Class II, moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(4)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(H), because Respondent is a used oil generator and the violations of this used oil 


rule were not related to a spill or release.  


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent. “P” receives a value of 7 according to OAR 340-012-


0145(2)(a)(C) and (D), because Respondent has a total of six Class I or Class I equivalent 


prior significant actions (DEQ case numbers LQ/SW-WR-09-135, issued November 13, 


2009, and LQ/SW-ER-11-193, issued December 13, 2011). 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is insufficient information on 


which to base a finding under paragraphs (3)(a)(A) or (B). 


 


"O" is whether the violation was repeated or ongoing and receives a value of 3 according to 


OAR 340-012-0145(4)(a)(C), because over twenty used oil containers were not correctly 


labeled. 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was reckless.  Given that Respondent has had 


the prior enforcement listed above under “P” – which included violations of used oil 


management requirements – within the last four years, and a Warning Letter identifying 


used oil labeling violations at this facility one year ago, Respondent’s failure to label over  


twenty containers storing used oil constitutes a gross deviation from the reasonable standard 







 


  


Case No. WQ/HW-NWR-12-109  Wurdinger Holdings, Inc., dba 


Exhibit No. 1 Page 2 Wurdinger Recycling, Inc.  
 


of care and a conscious disregard for the substantial and unjustifiable risk that that 


Respondent would commit this violation.    


 


"C" is Respondent's efforts to correct the violation and receives a value of -1 according to OAR 


340-012-0145(6)(a)(C), because Respondent eventually made efforts to correct the violation 


by properly labeling the containers.  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0, as 


any economic benefit associated with this violation is de minimis.  


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $625 + [(0.1 x $625) x (7 + 0 + 3 + 6 – 1)] + $0 


 = $625 + [($62.50) x (15)] + $0 


 = $625 + $937.50 + $0 


 = $1,562.50 
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 EXHIBIT NO. 2 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 2:  Failing to store waste halide lamps in closed and structurally sound 


containers adequate to prevent breakage, in violation of 40 CFR 


273.13(d)(1). 


 


CLASSIFICATION:  This is a Class II violation pursuant to OAR 340-012-0068(2)(p).  


 


MAGNITUDE:  The magnitude of the violation is minor pursuant to OAR 340-012-


0135(4)(c)(C)(i), as Respondent failed to properly contain less than 


1,500 pounds of waste halide lamps.  


 


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,000 for a Class II, minor magnitude violation in the matrix 


listed in OAR 340-012-0140(2)(b)(B)(iii) and applicable pursuant to OAR 340-012-


0140(2)(a)(J)(i), because Respondent is a large quantity generator of hazardous waste. 


"P" is whether Respondent has any prior significant actions (PSAs), as defined in OAR 340-


012-0030(17), in the same media as the violation at issue that occurred at a facility owned 


or operated by the same Respondent, and receives a value of 4 according to OAR 340-012-


0145(2)(a)(B) through (D). Respondent’s prior significant actions are cited in case numbers 


LQ/HW-NWR-07-007 (which was issued May 10, 2007, and included two Class II 


violations) and LQ/HW-NWR-11-168 (which was issued November 7, 2011, and included 


four Class II violations as amended by a Mutual Agreement and Order on February 7, 


2012). 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of -2 


according to OAR 340-012-0145(3)(a)(A), because Respondent corrected all violations 


cited as prior significant actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because there is insufficient information on which to base a 


finding under paragraphs (4)(a)(B) through (4)(a)(D). 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent had actual knowledge that failing to properly contain 


waste lamps is a violation, because DEQ previously cited Respondent for this violation in 


2006. Respondent’s conduct of storing the waste halide lamps in an open box (in front of the 


closed container intended for storage of these lamps) was an intentional act pursuant to 


OAR 340-012-0030(11).   
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"C" is Respondent's efforts to correct the violation and receives a value of -2 according to OAR 


340-012-0145(6)(a)(B), because on September 22, 2011, Respondent submitted 


documentation that the violation was corrected.  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0, as 


DEQ has determined any economic benefit resulting from this violation would have been de 


minimis.  


  


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,000 + [(0.1 x $1,000) x (4 – 2 + 0 + 6 – 2)] + $0 


 = $1,000 + [($100) x (4)] + $0 


 = $1,000 + $400 + $0 


 = $1,400 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failing to determine if each of the residues (as defined in OAR 340-


100-0010(2)(ee) and 40 CFR 261.2) Respondent generated at the 


Facility was hazardous waste, in violation of OAR 340-102-0011(2).   


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0068(1)(a).  


 


MAGNITUDE:  The magnitude of the violation is minor pursuant to OAR 340-012-


0135(4)(a)(C), as Respondent failed to make a hazardous waste 


determination on one waste stream. 


  


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $2,000 for a Class I, minor magnitude violation in the matrix 


listed in OAR 340-012-0140(2)(b)(A)(iii) and applicable pursuant to OAR 340-012-


0140(2)(a)(J)(i), because Respondent is a large quantity generator of hazardous waste. 


"P" is whether Respondent has any prior significant actions (PSAs), as defined in OAR 340-


012-0030(17), in the same media as the violation at issue that occurred at a facility owned 


or operated by the same Respondent, and receives a value of 4 according to OAR 340-012-


0145(2)(a)(B) through (D). Respondent’s prior significant actions are cited in case numbers 


LQ/HW-NWR-07-007 (which was issued May 10, 2007, and included two Class II 


violations) and LQ/HW-NWR-11-168 (which was issued November 7, 2011, and included 


four Class II violations as amended by a Mutual Agreement and Order on February 7, 


2012). 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of -2 


according to OAR 340-012-0145(3)(a)(A), because Respondent corrected all violations 


cited as prior significant actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because there is insufficient information on which to base a 


finding under paragraphs (4)(a)(B) through (4)(a)(D). 


 


"M" is the mental state of the Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent had actual knowledge that failing conduct hazardous 


waste determinations is a violation, because DEQ previously cited Respondent for this 


violation at this facility in 2003 and 2006, and for other hazardous waste management 


violations involving aerosol cans in 2006. Respondent’s conduct of storing waste aerosol 


cans, uncontained and unlabeled around the Facility floor and in the solid waste dumpster, 
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without determining whether they were hazardous, was an intentional act pursuant to OAR 


340-012-0030(11).   


 


"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(D), because Respondent has not addressed the violation as described in 


paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 


paragraph (6)(a)(D).  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0, as 


DEQ has determined any economic benefit resulting from this violation would have been de 


minimis.  


  


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $2,000 + [(0.1 x $2,000) x (4 – 2 + 0 + 6 + 2)] + $0 


 = $2,000 + [($200) x (10)] + $0 


 = $2,000 + $2,000 + $0 


 = $4,000 
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 EXHIBIT 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Failure to perform a hazardous waste determination in violation of 


OAR 340-102-0011(2).   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0068(1)(a).  


MAGNITUDE:  The magnitude of the violation is minor pursuant to OAR 340-012-


0135(4)(a)(C) as Respondent failed to make a determination on one 


waste stream.   


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $2,000 for a Class I, minor magnitude violation in the matrix 


listed in OAR 340-012-0140(2)(b)(A)(iii) and applicable pursuant to OAR 340-012-


0140(2)(a)(J)(i). 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 1 according to OAR 340-012-


0145(2)(a) and -0145(2)(d).  Respondent has two Class I equivalent prior significant actions 


stemming from Case Nos. LQ/HW-NWR-04-108 and LQ/HW-NWR-07-127 for an initial 


value of 3.  This value is reduced by 2 because Respondents prior significant actions are 


more than three, but less than five years old. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(b), because Respondent did not make extraordinary 


efforts to correct or minimize the effects of its prior violations.  


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation was ongoing for more than 28 days. 


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent or Respondent reasonably 


should have known that the conduct would be a violation.  Respondent is a large quantity 


generator of hazardous waste and is therefore subject to the strictest regulatory requirements 


regarding hazardous waste management.  Respondent’s failure to take the necessary action 


to ensure that hazardous waste determinations were performed on all its wastes constitutes a 


failure to take reasonable care to avoid the foreseeable risk of committing the violation. 
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"C" is Respondent's efforts to correct the violation and receives a value of -2 according to OAR 


340-012-0145(6)(a)(B), because Respondent made reasonable efforts to correct the 


violation by performing a hazardous waste determination on its waste rags.  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding.     


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $2,000 + [(0.1 x $BP) x (1 + 0 + 4 + 2 + (-)2)] + $EB 


 = $2,000 + [($200 x 5)] + $0 


 = $2,000 + $1,000 + $0 


 = $3,000 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Failure to ensure Respondent’s vapor balance systems were vapor 


tight, properly connected, and operating in good working order, in 


violation of OAR 340-242-0520(2)(c) and (d) and Permit 


Conditions 4.8.a and 4.8.b.  


 


CLASSIFICATION:  This is a Class II violation pursuant to OAR 340-012-0055(2)(b). 


 


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:  BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,500 for a Class II, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(a)(A) and applicable pursuant to OAR 340-012-


0140(3)(b)(B)(ii), because Respondent has a General ACDP. 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because are no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation occurred on more than 28 days. The 


violation has been ongoing since at least June 22, 2012.  


 


"M" is the mental state of the Respondent and receives a value of 2 according to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent. Respondent’s Permit, and a 


July 2012 Warning Letter from DEQ, notifying Respondent of the requirement to properly 


maintain the vapor recovery equipment. By failing to repair the equipment as required by 


the Permit and as requested in the Warning Letter, Respondent failed to take reasonable care 


to avoid the foreseeable risk of conduct constituting a violation.  
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"C" is Respondent's efforts to correct the violation and receives a value of 2 according to OAR 


340-012-0145(6)(a)(E), because Respondent did not address the violation as described in 


paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 


paragraph (6)(a)(D).   


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $402.  


This is the amount Respondent gained by avoiding spending $573 to repair the vapor 


recovery equipment by June 22, 2012. This “EB” was calculated pursuant to OAR 340-012-


0150(1) using the U.S. Environmental Protection Agency’s BEN computer model.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,500 + [(0.1 x $1,500) x (0 + 0 + 4 + 2 + 2)] + $402 


 = $1,500 + [($150) x (8)] + $402 


 = $1,500 + $1,200 + $402 


 = $3,102 
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


  


VIOLATION:   Operating an air contaminant source (rock crusher) without first 


obtaining an Air Contaminant Discharge Permit (ACDP) from the 


Department, in violation of ORS 468A.045(1)(b) and OAR 340-


216-0020(1). 


 


CLASSIFICATION:  This is a Class II violation pursuant to OAR 340-012-0054(2)(a). 


 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


       


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $1,500 for a Class II, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(A) because Respondent needed to apply for a General Air Contaminant 


Discharge Permit. 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation has occurred for more than 28 days.  


Respondent’s actions have required an ACDP since at least April 2011. 


 


"M" is the mental state of Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was intentional.  Respondent was notified by 


letter on July 18, 2001, that it may need an ACDP to operate its rock crusher.  On October 


24, 2001, DEQ sent Respondent an ACDP application. On August 30, 2011, DEQ issued a 


Pre-Enforcement Notice to Respondent informing the company expressly that an ACDP is 
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required to operate its rock crusher.  On September 25, 2012, DEQ again informed 


Respondent during a site visit that it needed an ACDP to operate the rock crusher. By 


continuing to operate its rock crusher without obtaining or applying for an ACDP from 


DEQ, Respondent acted with the conscious objective to operate its rock crusher without an 


ACDP, in violation of Oregon law. 


 


"C" is Respondent's efforts to correct the violation and receives a value of 2 according to 


OAR 340-012-0145(6)(a)(E), because the Respondent did not address the violation as 


described in paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding 


under paragraph (6)(a)(D). 


  


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $2,254.  


This is the amount Respondent gained by avoiding spending $1,200 for the initial ACDP 


application, $120 for the 2011 annual fee and $972 for the 2012 annual fee.  This “EB” was 


calculated pursuant to OAR 340-012-0150(1) using the U.S. Environmental Protection 


Agency’s BEN computer model. 


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $1,500 + [(0.1 x $1,500) x (0 + 0 + 4 + 6 + 2)] + $2,254 


 = $1,500 + ($150 x 12) + $2,254 


 = $1,500 + $1,800 + $2,254 


 = $5,554 
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


  


VIOLATION:   Exceeding the 0.04 gr/dscf particulate matter emission limit in 


violation of Condition 2.2(c) of the Permit, 40 CFR Part 60, 


Subpart I, adopted and incorporated by reference at 340-238-0060, 


and ORS 468A.045(2). 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0054(1)(d). 


 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


       


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(A), because Respondent operates under a General Air Contaminant Discharge 


Permit. 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0 according to 


OAR 340-012-0145(4)(a)(A), because there is insufficient information on which to base a 


finding under paragraphs (4)(a)(B) through (4)(a)(D). 


 


"M" is the mental state of the Respondent and receives a value of 0 according to OAR 340-012-


0145(5)(a)(A), because there is insufficient information on which to base a finding under 


paragraphs (5)(a)(B) through (5)(a)(D).  
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"C" is Respondent's efforts to correct the violation and receives a value of 0 according to 


OAR 340-012-0145(6)(a)(D), because there is insufficient information to make a finding 


under paragraphs (6)(a)(A) through (6)(a)(C). 


  


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base an estimate.   


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (0 + 0 + 0 + 0 + 0)] + $0 


 = $3,000 + ($300 x 0) + $0 


 = $3,000 + $0 + $0 


 = $3,000 
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


  


VIOLATION:   Operating an air contaminant source (gasoline dispensing facility) 


without first obtaining an Air Contaminant Discharge Permit 


(ACDP) from the Department, in violation of ORS 468A.045(1)(b) 


and OAR 340-216-0020(1). 


 


CLASSIFICATION:  This is a Class II violation pursuant to OAR 340-012-0054(2)(a). 


 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude. 


       


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $625 for a Class II, moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(4)(b)(B)(ii) and applicable pursuant to OAR 340-012-


0140(4)(a)(B) because Respondent needed to apply for a General Air Contaminant 


Discharge Permit because Respondent is subject to the federal NESHAP requirements. 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 0 according to OAR 340-012-


0145(2)(a)(A), because Respondent has no prior significant actions. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because Respondent has no prior history. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 4 according to 


OAR 340-012-0145(4)(a)(D), because the violation has occurred for more than 28 days.  


Respondent has needed to apply for a permit since at least May 24, 2010. 


 


"M" is the mental state of Respondent and receives a value of 6 according to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was intentional.  DEQ notified Respondent 


by letter or fax on June 8, 2010, September 27, 2011, November 30, 2011, January 17, 


2012, March 1, 2012, and April 18, 2012 that Respondent needed to obtain an ACDP to 


operate its gasoline dispensing facility.  On May 23, 2012, DEQ sent Respondent a Warning 
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Letter with Opportunity to Correct to again notify Respondent of the ACDP requirement 


and requested that Respondent submit the application by July 1, 2012 to avoid the issuance 


of a formal enforcement action and civil penalties.  By continuing to operate its gasoline 


dispensing facility without obtaining or applying for an ACDP from DEQ, Respondent 


acted with the conscious objective to operate its gasoline dispensing facililty without an 


ACDP, in violation of Oregon law. 


 


"C" is Respondent's efforts to correct the violation and receives a value of 2 according to 


OAR 340-012-0145(6)(a)(E), because the Respondent did not address the violation as 


described in paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding 


under paragraph (6)(a)(D). 


  


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $999.  


This is the amount Respondent gained by avoiding spending $1,200 in 2010 for the initial 


ACDP application, and $120 each year for the 2010, 2011 and 2012 annual fees.  This “EB” 


was calculated pursuant to OAR 340-012-0150(1) using the U.S. Environmental Protection 


Agency’s BEN computer model. 


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $625 + [(0.1 x $625) x (0 + 0 + 4 + 6 + 2)] + $999 


 = $625 + ($62.50 x 12) + $999 


 = $625 + $750 + $999 


 = $2,374 
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 EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Performing or allowing a person other than a licensed asbestos 


abatement contractor to perform  an asbestos abatement project on a 


facility Respondent owns or operates, in violation of ORS 


468A.715(1) and OAR 340-248-0110(2).  


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0054(1)(n). 


 


MAGNITUDE:  The magnitude of the violation is major pursuant to OAR 340-012-


0135(1)(f)(A), because the amount of asbestos-containing material 


(ACM) abated was approximately 225 square feet. 


     


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $6,000 for a Class I, major magnitude violation in the matrix 


listed in OAR 340-012-0140(3)(b)(A)(i) and applicable pursuant to OAR 340-012-


0140(3)(a)(B). 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by the same Respondent, and receives a value of 5 according to OAR 340-012-


0145(2)(a)(C) and (D), because Respondent had four prior Class I violations in Case No. 


AQ/AB-WR-09-162. 


 


"H" is Respondent’s history of correcting prior significant action(s) and receives a value of -1 


according to OAR 340-012-0145(3)(a)(B), because Respondent made reasonable efforts to 


minimize the effects of the violations cited as PSAs by hiring a licensed asbestos abatement 


contractor to perform a cleanup. 


 


"O" is whether or not the violation was repeated or ongoing and receives a value of 2 according 


to OAR 340-012-0145(4)(a)(B), because the violation occurred on more than one day up to 


and including six days.  Respondent performed an unlicensed asbestos abatement project on 


four days: July 22-23, 2012 and August 4-5, 2012.     


 


"M" is the mental state of the Respondent and receives a value of 6 pursuant to OAR 340-012-


0145(5)(a)(C), because Respondent’s conduct was reckless.  In 2009, Respondent received a 


civil penalty for an unlicensed asbestos abatement project that involved asbestos-containing 


sheet vinyl and vinyl floor tile flooring, so he is aware that flooring materials can contain 


asbestos.  Respondent told DEQ staff that he suspected the floor tile contained asbestos.  
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When Respondent and/or his agent removed both the sheet vinyl and tile flooring without 


first confirming these materials did not contain asbestos and it was legal to handle them, 


Respondent consciously disregarded a substantial and unjustifiable risk that he would 


perform an unlicensed asbestos abatement project.  Disregarding this risk constituted a 


gross deviation from the standard of care a reasonable person would observe in that 


situation.  


 


"C" is Respondent’s efforts to correct the violation and receives a value of -2 according to 


OAR 340-012-0145(6)(a)(B), because Respondent made reasonable affirmative efforts to 


minimize the effects of the violation.  Respondent hired a licensed asbestos abatement 


contractor to clean up the ACWM generated by the unlicensed asbestos abatement 


project.  The cleanup occurred on August 8, 2012. 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law. 


It is designed to “level the playing field” by taking away any economic advantage the 


entity gained and to deter potential violators from deciding it is cheaper to violate and 


pay the penalty than to pay the costs of compliance.  In this case, “EB” receives a value of 


$235.  It would have cost Respondent $2,400 to hire a licensed asbestos abatement 


contractor to abate the sheet vinyl flooring.  Respondent ended up paying $2,000 for 


asbestos cleanup.  This is the amount Respondent gained by avoiding spending $400 


difference between the estimated abatement costs and the cleanup costs.  This “EB” was 


calculated pursuant to OAR 340-012-0150(1) using the U.S. Environmental Protection 


Agency’s BEN computer model.  


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


  = $6,000 + [(0.1 x $6,000) x (5 + (-1) + 2 + 6 + (-2))] + $235 


  = $6,000 + [($600) x (10)] + $235 


  = $6,000 + $6,000 + $235 


  = $12,235 
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 EXHIBIT 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT’S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Causing or allowing the open burning of materials which normally 


emit dense smoke or noxious odors, in violation of OAR 340-264-


0060(3). 


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0054(1)(q). 


 


MAGNITUDE:  The magnitude of the violation is moderate pursuant to OAR 340-


012-0135(1)(g)(B), as Respondent burned 2 or more, but less than 5 


cubic yards of prohibited materials.   


 


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $500 for a Class I, moderate magnitude violation in the matrix 


listed in OAR 340-012-0140(5)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(5)(a)(A), because Respondent is a residential owner-occupant. 


 


"P" is Respondent’s prior significant actions, as defined in OAR 340-012-0030(17), and receives 


a value of 0 according to OAR 340-012-0145(2)(a)(A), because Respondent has no prior 


significant actions. 


 


"H" is the past history of Respondent in taking all feasible steps or procedures necessary to 


correct any prior significant actions and receives a value of 0 according to OAR 340-012-


0145(3)(a)(C), because Respondent has no prior significant actions. 


 


"O" is whether or not the violation was repeated or ongoing and receives a value of 2 according 


to OAR 340-012-0145(4)(a)(B), because the violation existed for five days.  Respondent 


ignited the fire on May 12, 2012 and it burned through May 16, 2012. 


 


"M" is the mental state of the Respondent and receives a value of 6 pursuant to OAR 340-012-


0145(5)(a)(C), because Respondent had actual knowledge that his conduct would be a 


violation and his conduct was intentional.   After receiving a previous complaint about 


Respondent burning prohibited materials at the property, DEQ issued a Warning Letter to 


Respondent on March 8, 2012 informing him of the open burning rules.  Additionally, DEQ 


staff called Respondent on May 1, 2012 and informed Respondent that he was not permitted 


to burn the debris pile on his property.  Responded told DEQ staff that he would not burn 


the debris pile and would bring the materials to a landfill.  However, Respondent proceeded 


to ignite the debris pile on May 12, 2012.  When Respondent ignited the debris pile 


containing prohibited materials, which normally emit dense smoke or noxious odors when 


burned, he had actual knowledge that it would be a violation. 
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"C" is Respondent’s efforts to correct the violation and receives a value of 2 pursuant to OAR 


340-012-0145(6)(a)(E), because Respondent did not address the violation as described in 


paragraphs (6)(a)(A) through (6)(a)(C) and the facts do not support a finding under 


paragraph (6)(a)(D).  


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  


It is designed to “level the playing field” by taking away any economic advantage the 


entity gained and to deter potential violators from deciding it is cheaper to violate and 


pay the penalty than to pay the costs of compliance.  In this case, “EB” receives a value 


of $0 because Respondent did not receive an economic benefit as a result of the violation. 


Respondent could have disposed of the materials at the Hood River landfill for free.  


 


 


PENALTY CALCULATION: 


 


Penalty  = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


  = $500 + [(0.1 x $500) x (0 + 0 + 2 + 6 + 2)] + $0 


  = $500 + ($50 x 10) + $0 


  = $500 + $500 + $0 


  = $1,000 
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION 1:  Respondent violated Condition 11 of its Oregon Title V Operating 


Permit and ORS 468A.045(2) by causing or allowing opacity 


levels from GM1 and/or GM4 to be equal to or greater than 20% 


opacity for a period aggregating more than three minutes in an 


hour. 


 


CLASSIFICATION:  These are Class II violations pursuant to OAR 340-012-0054(2)(d). 


MAGNITUDE:  The magnitude of the violation is major pursuant to OAR 340-012-


0135(1)(a)(A), because Respondent’s opacity readings were 20% 


opacity or more over the applicable limitation.  


        


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $4,000 for a Class II, major magnitude violation in the matrix 


listed in OAR 340-012-0140(2)(b)(B)(i) and applicable pursuant to OAR 340-012-


0140(2)(a)(A) because Respondent operates the facility under an Oregon Title V Operating 


Permit. 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by Respondent, and receives a value of 10 according to OAR 340-012-


0145(2)(a)(C) and (D), because Respondent had one Class I violation and one Class II 


violation in case no. AQ/V-NWR-04-176 issued March 25, 2005, 20 Class II violations in 


case no. AQ/V-NWR-09-204 issued April 5, 2010 and 18 Class II violations in AQ/V-


NWR-11-092 issued August 31, 2011.   


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C), because there is insufficient information on 


which to base a finding under paragraphs 3(1)(A) or (B). 


 


"O" is whether the violation was repeated or ongoing and receives a value of 0. In accordance 


with OAR 340-012-0145, the Department will set the O factor at 0 when assessing separate 


penalties for each day a violation occurred. 
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"M" is the mental state of Respondent and receives a value of 2, pursuant to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent.  Respondent’s permit 


expressly prohibits opacity levels of 20% or greater.  These opacity violations, as reported 


by Respondent, were due to mechanical or process failures.  When Respondent failed to 


provide adequate maintenance or process remedies to avoid these conditions, Respondent 


failed to take reasonable care to to avoid the foreseeable risk that Respondent would violate 


its Permit. 


   


"C" is Respondent’s efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), because the violation or the effects of the violation (excess 


emissions) cannot be corrected or minimized. 


 


"EB" is the approximate economic benefit that Respondent gained by not complying with the law. 


 It is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 as 


there is insufficient information on which to base a finding. 


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $4,000 + [(0.1 x $4,000) x (10 + 0 +0 + 2 + 0] + $0 


 = $4,000 + ($400 x 12) + $0 


 = $4,000 + $4,800+ $0 


 = $8,800 per violation 


 


Respondent had three Class II, major magnitude violations as described in paragraphs 4a-c of the 


Notice.  $8,800 per violation x 3 violations equals a total civil penalty of $26,400 for these 


violations. 
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION :   Respondent violated Condition 9 of its Oregon Title V Operating 


Permit and ORS 468A.045(2) by causing or allowing opacity 


levels from H-BLR to be equal to or greater than 20% opacity for a 


period aggregating more than three minutes in an hour. 


 


CLASSIFICATION:  These are Class II violations pursuant to OAR 340-012-0054(2)(d). 


MAGNITUDE:  The magnitude of the violation is major pursuant to OAR 340-012-


0135(1)(a)(A), because Respondent’s opacity readings were 20% 


opacity or more over the applicable limitation during the second 


occurrence on January 3, 2010 and during the May 29, 2011 


violation.  


        


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


"BP" is the base penalty, which is $4,000 for a Class II, major magnitude violation in the matrix 


listed in OAR 340-012-0140(2)(b)(B)(i) and applicable pursuant to OAR 340-012-


0140(2)(a)(A) because Respondent operates the facility under an Oregon Title V Operating 


Permit. 


 


"P" is whether Respondent has any prior significant actions, as defined in OAR 340-012-


0030(17), in the same media as the violation at issue that occurred at a facility owned or 


operated by Respondent, and receives a value of 3 according to OAR 340-012-


0145(2)(a)(C) and (D), because Respondent had two Class I violations and one Class II 


violation in case no. AQ/V-NWR-10-070 issued September 29, 2010. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of -2 


according to OAR 340-012-0145(3)(a)(A), because Respondent corrected all violations 


cited as prior significant actions. 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(B), because the violation occurred twice on January 3, 2010, and 


once on May 29, 2011. 


 


"M" is the mental state of Respondent and receives a value of 2, pursuant to OAR 340-012-


0145(5)(a)(B), because Respondent’s conduct was negligent.  Respondent’s permit 


expressly prohibits opacity levels of 20% or greater.  These opacity violations, as reported 
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by Respondent, were mostly due to operator error and an opacity alarm that was not audible 


in all boiler operator work areas.  When Respondent failed to properly operate the boilers to 


maintain compliance with the opacity limit and to  provide an alarm system that was audible 


at all times so that the operator would know that the boilers were emitting excess opacity 


and could timely adjust the combustion before the three-minute limit was exceeded, 


Respondent failed to take reasonable care to avoid the foreseeable risk that Respondent 


would violate its Permit. 


   


"C" is Respondent’s efforts to correct the violation and receives a value of -1 according to OAR 


340-012-0145(6)(a)(C), because Respondent took affirmative efforts to minimize the effects 


of the violation.  During both the January 3, 2010 and May 29, 2011 violations, Respondent 


took action to determine the cause of the exceedances and return operations to normal.    


Respondent has developed new grate cleaning procedures to avoid opacity exceedances and 


made improvements to the opacity alarm to alert the boiler operator when opacity levels 


rise. 


 


"EB" is the approximate economic benefit that Respondent gained by not complying with the law. 


 It is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0.  The 


violations were mostly the result of operator error and therefore, any economic benefit 


derived would be de minimis. 


 


PENALTY CALCULATION: 


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $4,000 + [(0.1 x $4,000) x (3 + -2 + 2 + 2 + -1] + $0 


 = $4,000 + ($400 x 4) + $0 


 = $4,000 + $1,600 + $0 


 = $5,600  
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EXHIBIT NO. 1 


 


 FINDINGS AND DETERMINATION OF RESPONDENT'S CIVIL PENALTY  


 PURSUANT TO OREGON ADMINISTRATIVE RULE (OAR) 340-012-0045 


 


VIOLATION:   Failure to conduct visual monitoring in violation of Schedule B, 


Condition 1 of NPDES Permit No. 1200-Z and ORS 468B.025(2).   


 


CLASSIFICATION:  This is a Class I violation pursuant to OAR 340-012-0055(1)(o). 


MAGNITUDE:  The magnitude of the violation is moderate, pursuant to OAR 340-


012-0130(1), as there is no selected magnitude specified in OAR 


340-012-0135 for this violation, and the information reasonably 


available to the Department does not indicate a minor or major 


magnitude.   


         


CIVIL PENALTY FORMULA: The formula for determining the amount of penalty of each 


violation is:   


     BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 


 


"BP" is the base penalty, which is $3,000 for a Class I, moderate magnitude violation in the 


matrix listed in OAR 340-012-0140(3)(b)(A)(ii) and applicable pursuant to OAR 340-012-


0140(3)(a)(E)(iii).  


 


"P" is Respondent’s prior significant actions as defined in OAR 340-012-0030(17) and receives 


a value of 2 according to OAR 340-012-0145(2)(a)(C), because Respondent had a prior  


significant action in Case No. WQ/SW-NWR-09-022 that included one Class I violation in 


the same media as the current violations. 


 


"H" is Respondent’s history of correcting prior significant actions and receives a value of 0 


according to OAR 340-012-0145(3)(a)(C) because there is insufficient information on 


which to base a finding under paragraphs (3)(a)(A) or (B). 


 


"O" is whether the violation was repeated or ongoing and receives a value of 2 according to 


OAR 340-012-0145(4)(a)(B), because the violation occurred on three days.  Respondent 


failed to conduct visual monitoring while discharging on three occasions during the 2011-


2012 monitoring period. 


 


"M" is the mental state of the Respondent and receives a value of 6 pursuant to OAR 340-012-


0145(5)(a)(C) because Respondent’s conduct was reckless.  Respondent holds a 1200-Z 


Permit, which specifically requires that Respondent visually monitor stormwater once a 


month when discharging.  In 2009, Respondent was issued a civil penalty for a stormwater 


monitoring violation.  In 2011, Respondent received a letter from the City of Portland 


notifying it of noncompliance with Schedule B monitoring requirements for the 2010-2011 
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monitoring period.  By failing to correctly perform visual monitoring for three months 


during the 2011-2012 monitoring period, Respondent consciously disregarded a substantial 


and unjustifiable risk that it would violate its Permit.  


  


"C" is Respondent's efforts to correct the violation and receives a value of 0 according to OAR 


340-012-0145(6)(a)(D), as the violation cannot be corrected. 


 


"EB" is the approximate economic benefit that an entity gained by not complying with the law.  It 


is designed to “level the playing field” by taking away any economic advantage the entity 


gained and to deter potential violators from deciding it is cheaper to violate and pay the 


penalty than to pay the costs of compliance.  In this case, “EB” receives a value of $0 


according to OAR 340-012-0150(3), because the Department finds that the economic 


benefit Respondent gained by failing to properly conduct visual monitoring on three 


occasions was de minimis.   


 


PENALTY CALCULATION:  


 


Penalty = BP + [(0.1 x BP) x (P + H + O + M + C)] + EB 


 = $3,000 + [(0.1 x $3,000) x (2 + 0 + 2 + 6 + 0)] + $0 


 = $3,000 + ($300 x 10) + $0 


 = $3,000 + $3,000 + $0 


 = $6,000 
 


































































































































EXHIBITS

		ELS		CASE NAME		CASE NO.		ISSUED		ACTION		PRG

												

		WESTBROOK		SANDERS, SCOTT WAYNE		2012-098		24-Sep-12		CP		AQ/AB

		ROOT		HOOVER EXCAVATING AND TRUCKING, INC.		2012-042		16-Oct-12		CPCO		AQ/AC

		ROOT		BAKER ROCK CRUSHING CO., dba BAKER ROCK RESOURCES		2012-097		18-Oct-12		CPCO		AQ/AC

		WHEELER		76 X-PRESS, LLC		2012-101		18-Oct-12		CP		AQ/AC

		ROOT		EXPRESSWAY STORE, INC.		2012-086		05-Nov-12		CPCO		AQ/AC

		WESTBROOK		GARCIA, AGUSTIN M.		2012-071		04-Sep-12		CP		AQ/OB

		ROOT		OWENS-BROCKWAY GLASS CONTAINER INC.		2012-046		01-Oct-12		CP		AQ/V

		ROOT		STIMSON LUMBER COMPANY		2012-081		20-Nov-12		CP		AQ/V

		BACHMAN		D.B. WESTERN, INC.  (BEETHAM, DENNIS)		2011-206		13-Sep-12		CPCO		LQ/HW

		BACHMAN		NORTHWEST PIPE COMPANY		2012-087		20-Sep-12		CP		LQ/HW

		WHEELER		PCC STRUCTURALS, INC.		2012-061		02-Oct-12		CPCO		LQ/HW

		WHEELER		WURDINGER HOLDINGS, INC., FKA WURDINGER RECYCLING		2012-109		13-Nov-12		CP		LQ/HW

		WHEELER		ANDERSON ENVIRONMENTAL CONTRACTING, LLC		2012-118		15-Nov-12		CP		LQ/HW

		ELWORTH		TOMLIN III, PERRY OTIS		2012-092		26-Sep-12		CP		LQ/UST

		WHEELER		UNITED STATES ARMY (UMATILLA CHEMICAL DEPOT)		2012-080		19-Sep-12		CP		WQ/D

		WESTBROOK		PLEASANT HILL SCHOOL DISTRICT # 1		2012-089		20-Sep-12		CP		WQ/D

		BROWN		CONAGRA FOODS LAMB WESTON, INC.		2012-079		04-Sep-12		CP		WQ/I

		BROWN		SFPP, L.P.		2012-050		04-Sep-12		CP		WQ/I

		BROWN		SPECTRUM INDUSTRIES, INC.		2012-034		04-Sep-12		CP		WQ/I

		SMITH		SNACK ALLIANCE, INC.		2012-111		27-Nov-12		CP		WQ/I

		BROWN		PRINEVILLE, CITY OF		2012-077		04-Sep-12		CP		WQ/M

		ELWORTH/BROWN		CLACKAMAS COUNTY SERVICE DISTRICT NO. 1, KELLOGG C		2012-075		12-Oct-12		CP		WQ/M

		BACHMAN		CLEAN WATER SERVICES (DURHAM WWTF)		2012-106		06-Nov-12		CP		WQ/M

		BACHMAN		COQUILLE, CITY OF		2012-105		19-Nov-12		CP		WQ/M

		WESTBROOK		LOPEZ, PEDRO ALEX , dba A & S SEPTIC TANK SERVICE		2012-100		03-Oct-12		CP		WQ/OI

		WESTBROOK		BEST PORTABLE TOILETS, LLC		2012-103		09-Oct-12		CP		WQ/OI

		ELWORTH		TONEY, DENIS ERVIN		2012-093		29-Oct-12		CP		WQ/OS

		WESTBROOK		BOURDET, PETER MICHAEL		2012-120		20-Nov-12		CPCO		WQ/OS

		WESTBROOK		VALLEY PAVING & ASPHALT, INC.		2012-096		13-Sep-12		CP		WQ/SW

		BROWN		FLOWERS, RICKY DALE		2012-073		24-Sep-12		CP		WQ/SW

		ELWORTH		RB RECYCLING, INC.		2012-116		01-Nov-12		CP		WQ/SW

		WESTBROOK		COLUMBIA ALUMINUM RECYCLING CORPORATION		2012-115		07-Nov-12		CP		WQ/SW

		BACHMAN		KNUTSON TOWBOAT COMPANY		2012-104		13-Nov-12		CP		WQ/SW

		BACHMAN		AUTO TRUCK TRANSPORT USA LLC		2012-107		19-Nov-12		CP		WQ/SW

		BROWN		LEATHERMAN TOOL GROUP, INC.		2012-122		19-Nov-12		CP		WQ/SW

		SMITH		HANEY TRUCK LINE, LLC		2012-124		20-Nov-12		CPCO		WQ/SW

		SMITH		UPS GROUND FREIGHT, INC.		2012-125		20-Nov-12		CP		WQ/SW











spectrum of violations we cite and results from use of the different penalty matrices in Division 12. 
Please let us know if you have any questions on how penalties are calculated.
 
Also, let’s set a deadline for you to get your thoughts and comments to us on how we might use
our expanded penalty authority and/or other changes to Division 12.  Please get your comments to

Les and me by December 17th.   I do want to   remind you that you will have additional
opportunities to comment and provide input on Division 12 changes when we send you our
proposed draft in February  and at our next meeting in March.  But the sooner you get them to us,
the better, so we can include your ideas in our ongoing discussions with DEQ programs.
 
Thanks,
 
Jenny Root
Environmental Law Specialist, OCE, DEQ

811 SW 6th Ave. Portland OR  97204-1390
503-229-5874
 
Les Carlough
Senior Policy Advisor, OCE, DEQ

811 SW 6th Ave. Portland OR  97204-1390
503-229-5422
 
 


